ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

IDIR74 =\ 2311

Liamited Edition

Version 1.0




NATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

(D Steering Post (open Bag 1,2,3,4)

Steering Post

Arm Mount 3

@ Steering Crank

3*6*2 Flange Bearing
D)

Version 1.0




NATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

@ Steering Crank

A 2.5mm Ball Head

=) 1.6 *2.5%0.3mm Steel Shim (2 pcs)

Pay attention to the orientation

N\

Do not over tighten the lock nut, adjust the nut to make sure the steering crank is moving

. Lock Nut

D
3 x 5x 0.1 Shim (2 or 3 pcs) /%

To eliminate slop and wobble

smoothly and no wobble.

0.8mm Brass Spacer

Version 1.0




ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT
N

hd N
@ Front Lower Arms (open Bag 5) ’\\ \ \

16%25%03mm —

Steel Shim & ” Front Lower Arm

Pivot Ball

\\

\:.\'\_\..
S 0.8mm BrassSpa/
/ -
-
-
-
v
S -
! P >

@ Front Bulkhead

Front Bulkhead

=

Front Body Mount

M2*7 Flat Head
Use M2*8 if using Brass Chassis

Version 1.0



ATOMIC

L RACING EXPERT

DRZ-V2.1 Limited Edition Manual

Make left and Right

[ 20mm

® Steering Linkages

—=Jiip

M2.5 Link Rod
%1.0mm Gap

How to Make Steering Linkages Ball Cap Smooth and no wobble:

YouTube Video: Scan this QR Code to see how to make the ball link Smooth
and no wobble.
https://www.youtube.com/watch?feature=youtu.be&v=RMhkolUS og

Youku Videe: Scan this QR Code to see how to make the ball link Smooth and

no wobble.
https://v.youku.com/v show/id XNDMzMDUS5NzI4NA==

Version 1.0


https://www.youtube.com/watch?feature=youtu.be&v=RMhkoIUS_og
https://v.youku.com/v_show/id_XNDMzMDU5NzI4NA==

ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

©® Front Upper Arms

Upper Arm Mount ‘

1.55 *3.0*0.45mm Steel
Shim x 2 pcs

Upper Arm

1.5*%11 pin

0.45mm shim x 2 pcs at rear side, it is maximum caster angle (around 15 \
degree). \

Each 0.45mm step move result in 1.5 degree changes. \

Front

Version 1.0




ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

@ Upper Arms Assemble

M2.0 Camber Link Rod

@ Front Knuckles Firstly, we need to identify Right and Left Knuckle \

Right Knuckle Left Knuckle

Version 1.0



ATOMIC

DRZ-V2.1 Ljp~i+--t mtisim mammeed ) o

Wheel Shaft

} ..«--:"':A, 2 x 5x 2.5 Flange Bearing

2.5 Ball Head

2x4x0.1shim

(2 or 3 pcs to remove play)

Repeat for the Right Side

Wheel Shaft

2 x5 x 2.5 Flange Bearing

2.5 Ball Head

2 x4 x0.1shim

(2 or 3 pcs to remove play)

Version 1.0




ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

. Attach the knuckle to the arms

(9) Chassis Bridge Mount

Aluminium Bridge Mount
- Small one is for 94 to 98mm WB
Big one is for 102 to 114mm WB

M2 * 3 Flat Head

g M2 * 3 Flat Head

Version 1.0



ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

Gear Differential (open Bag 6)

Ml.Z@utton Head

M1.2*6

Button Head
M1.2*6 Button Head

Loose the screws a little bit if the gear diff is not smooth.

(1) Gear Differential (open Bag 7)
ight Bulkhead

1.5%4.5 pin
3*6*2.5 Bearing _ " 2*5*2 Bearing

Left Bulkhead

Plastic collar
3*6*2.5 Bearing

Version 1.0



NT

MIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

(12 Attach Bulkhead to Chassis

%@

M2*4 Button Head

% % M2*5 Flat Head

@ Rear Arms and Down Stop (Open Bag 08)

M1.4 *4 Button head

Left Arm

Version 1.0




ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

Attach Rear Arms to Bulkhead \

Left Rear |

X

Rear Toe Mount

Pivot Ball
M2 *7 Flat Head

e

Right Rear Arm
M2 *7 Flat Head ¢

@5 Motor Mount

-

™~

% *5 Flat Head

&

M2 *3 Flat Head

Version 1.0




ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT
Spur Gear \
M2x4 h N

Button Heac

O-Ring

@ Attach Gear Differential - M2x4 Button Head \\\

Version 1.0



ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

N

h
b

Rear Wheel Hub Build 2 pcs \

Y

Universal Shaft

3*6*2 Bearing

M1.2*4 Button §F®

Head 1.5x 13 pin Use sandpaper to polish the wheel hub if

it is not moving freely with arm.

Version 1.0



)
ATOMIC
DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT
(7 Camber Link Build 2 pcs soil Hoad Cover \
3.0 Ball Cap M1.2*4 Button Head

Steel Link

Shock Stay Tower

Rear Tower

Version 1.0



ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

Attach Damper to Chassis — Rear Side

3.5 Ball Head (&3

Rear Long Damper

@0 Front Shock Damper

Cut the first Segment of the damper leg
(Front Shock Damper)

Version 1.0



ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

-\

@0 Attach Damper to Chassis - Front Side .
\
L N

b

@1 Attach Servo \

2.5 Ball = Thread M1.4

Steel spacer
3 Hole

Servo Horn

Version 1.0



NATOMIC

@2 Attach Servo Link Rod

\QG EXPERT

Battery mount post

M2 x 5 Flat Head

8
M2 x 5 Flat Head g%

Version 1.0




RACING EXPERT

ATOMIC

RADIO CON

DRZ-V2.1 Limited Edition Manual

® M2 x 3 Flat Head

@3 Top Deck

M2 x 3 Flat Head &

x 3 Flat Head

2

M

@5 Wheelbase Adjustment

Version 1.0



ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT

@ Wheel and Tire :

Don’t over tighten the lock nut, check if the
wheel is moving freely, leave a little bit play

between the wheel and bearing is recommended.

@ Ride Height

Front: 2.0mm, Rear 2.2mm is a recommended basic setup

Version 1.0



ATOMIC

DRZ-V2.1 Limited Edition Manual RADIO CONTROL RACING EXPERT
Gear Ratio Chat
Motor Pinion
Spur Gear 39 40 41 42
15 10.40 10.67 10.93 11.20
16 9.75 10.00 10.25 10.50
17 9.18 9.41 9.65 9.88
18 8.67 8.89 9.11 9.33
19 8.21 8.42 8.63 8.84
20 7.80 8.00 8.20 8.40
21 7.43 7.62 7.81 8.00
22 7.09 7.27 7.45 7.64
23 6.78 6.96 7.13 7.30
24 6.50 6.67 6.83 7.00
25 6.24 6.40 6.56 6.72
26 6.00 6.15 6.31 6.46
27 5.78 5.93 6.07 6.22

Version 1.0



